FRONT VIEW
WITH BRACKET IN PLACE

LED INDICATORS ETHERNET & POWER
/ unk 7 act
PWR +5V STATUS
O 0O
— AN
SJACQUES

FRONT PANEL

POWER AUDIO, LED & CONTROL INPUTS RELAY QUTPUTS

.( PWR Y e SPKVM\CY LEDS Y CTRL \NPUTS ﬂ fRELAYW VRELAYZﬁ

+o- -

T ] [TlllTe

JACQUES INTERCOM BOX
MODEL: JiB-381 P/N: 51640 o N1204¢ MADE IN AUSTRALIA @
POWER INPUT: (12-32)V === 5W S/N: WWW.JACQUES.CoMAU &)

REAR PANEL

JIB-3B1 JEM IN A BOX

| DO NOT SCALE |

IF IN DOUBT - ASK!

REAR VIEW WITH CONNECTORS
AND BRACKET MOUNTING

MOUNTING BRACKET

120

72

R e —

MOUNTING BRACKET DETAIL

4 STICK ON FEET
' USE FOR DESK/SHELF MOUNTING

P/N: 52134 OO|| _——2u3x5 mm SCREWS
m;:;s G SoREW W35 §z§ yd

HWMA1222 RUBBER FOOT

MOUNTING BRACKET
-’l:> USE FOR WALL OR UNDER DESK MOUNTING
O

MOUNTING HARDWARE KIT
(P/N: 52134)

@2015 Jacques Technologies PTY LTD

REV DATE CHANGE DESCRIPTION BY (C) Copyright Jacques Technologies Pty le: All rights reserved.
o [zooros s | FrsT RELERSE = HJACQUES |
1 |2011-08-02 | 51460 INS SPLIT INTO 2 SHEETS. LFB uture Proof Communications | www.jacques.com.au info@jacques.com.au
2 |2015-08-14 | 3rd SHEET ADDED SHOWING SPEAKER ASSY. PARTS LIST ADDED TO SHTS 2 & 3. DRAWING FRAME UPDATED. LFB
r JIB-3B1 JACQUES INTERCOM BOX
INSTALLATION DETAILS
DRAWN: DATE: ADAPTED FROM: FILENAME:
LFB  2007-09-13 51161-INS | 51460-INS.dwg
CHECKED: DATE: SCALE: SHEET: SIZE:
N.T.S. 1 of 3] A2
APPROVED: DATE: DWG NO: REV:
51460-INS | 2




SPEAKER AND MICROPHONE INSTALLATION DETAILS
(OPTIONALLY SUPPLIED)

Refer to sheet 3 for
Speaker Assy Details

/—

| DO NOT SCALE |

IF IN DOUBT - ASK!

JIB-3B1 JEM IN A BOX

TERMINATION DETAILS

POWER  AUDIO, LED & CONTROL INPUTS

RELAY OUTPUTS

/

~ SPKTYMIC Y LEDS Ty CTRL INPUTS N
+ - - 4+ 2-1-+ 4 3 2 1 COM

jww'(

®

/— RELAY1 ~y— RELAY2 N\
NC C NO NC C NO

[ et e

JACDUFS \NIERCQM 80X ) N12046
e e © o AT
51273 (Spkr Assy) - -
REAR PANEL
= ; // __—— Black Wire to SPK— ")
=3 RELAY1 RELAY2
822 S~ Red Wire to SPK+
§%§ To 12 Way -+ +--4+2-1-+4321C NC CNONC CNO
Sge > Pluggable
§ .
*38 - Soreen to M- Terminal Block B0PPPLPSLLOR  [6PPeEEe
= RELAY CONTACTS
\— ~\— Centre conductor POWER INPUT SPECIFICATION rowif; gormally %pen 2
51272 (MIC ASSY 12-32) V. dc. 6 W npu ommon
( ) to MC + - ( ) ¢ Normally Closed 2~ RELAY CONTACT RATING
(h:lormally Open 1 1A 30 V d.c.
1 1 §P5EA\:V<E§MCS)UITNPT%T fpgﬁhlﬂﬂcmorw ngsukterj Ngmﬁ; Closed 1
' Common TYPICAL BUTTON FUNCTIONS
L Button 1 Button 1 CALL
L Button 2 Button 2 VOLUME +
L Button 3 Button 3 VOLUME —
Button 4 Button 4 AUX. SELECT
MICROPHONE SPECIFICATION N GND
SN TARES EEATarT M h
SINGLE ENDED ELECTRET e F— | | epi- o o) e LED PIN_SPECIFICATION
NOMINAL 2.5 V BIAS VOLTAGE N +COM = 3.3 V
MICROPHONE INSTALLATION " ! LEDT— = MOSFET Open Drain Switch
(MICROPHONE ASSY P/N: 51272) LED2— (AUX LED) —~3q+ +COM with 220 R internal series resistance
N LED2- = MOSFET Open Drain Switch
with 220 R internal series resistance
Faceplate 0
Faceplate Backview Nyloc Nuts
~Back NOTES:
16 Facenlat @ Washers
] l‘ oceplate 1. JIB-3B1 Supplied with 52134 mounting kit and all rear panel pluggable terminal blocks.
2 x M3x16
Weldstuds 2. All rear panel plug connectors are DINKLE EC381vV—02P, EC381V—12P and EC381V-06P
respectively, from left to right.
82.5 Microphone
hole 3. Ethernet port on the front of the JIB-3B1 is via an RJ45 plug using Standard EIATS568A pin out.
MIC Enclosure MIC Enclosure 4. CATSE/6 24AWG 4 pair multistrand patch cable is to be used for the Ethernet connection.
space envelope
0-Ring Gasket 5. The Ethernet port may also be used as an alternative power input.
to seal to rear
of metal panel 6. The Ethemnet port is Jacques PoE compatible. (NOT IEEE 802.3af PoE).
7. Speaker, Microphone, LED and Piezo Button cable assemblies are supplied optionally.
e 8. Recommended maximum cable length for the items in the note 7 is 1.5 metres.
Item No Jacques PIN Image Description Qty
1 HWMAB851 NUT M3 NYLOCK ZINC PLATED 2 REV DATE CHANGE DESCRIPTION BY (C) Copyright Jacques Technologies Pty Ltd: All rights reserved.
© 0 [ 2007-08-13 | FIRST RELEASE LFB Q’JACQUES P 1617 3045 8400 Fax 1617 3644 1070
2011-08-02 | 51460 INS SPLIT INTO 2 SHEETS. LFB Future Proof Communications | www.jacques.com.au info@jacques.com.au
2 HWO061 @ WASHER FLAT 1/8in. x 5/16in.x 22 g 2 2 | 2015-08-14 | 3rd SHEET ADDED SHOWING SPEAKER ASSY. PARTS LIST ADDED TO SHTS 2 & 3. DRAWING FRAME UPDATED. LFB J I B 3Bl JACQU ES I NTERCO M BOX
3 HW107 @ O Ring Ludowici RR0O003 3mm x 1mm OD= 5mm 1 DRAWN: DATE: ADAPTED FROM: FILENAME:
LFB 2007-09-13 51161-INS |51460-INS.dwg
4 — — NS s Bt Edocinst Thai i CHECKED: DATE: SCALE: SHEET: SIZE:
o o g ' N.T.S. 2 of 3| A2
- APPROVED: DATE: DWG NO: REV:
(©2015 Jacques Technologies PTY LTD 51460-INS




DO NOT SCALE

IF IN DOUBT - ASK!

SPEAKER INSTALLATION

P/N: 51273
S
N
HWO61—Flat washer __
77 (larger)
- 27 - 60
7 N HWMAO600—Flat washer

(smaller) -
&)

NOTE:
Speaker Baffle Plate —
to be rotated 180" to

one below. 6

I HWO61—Flat washer __
7 ' ' (larger)
7 k4 x 94.5
Mounting Holes
g Fit washers when

77
60

Raised Weldstud Heads ( 2)
are absent. 4
See Detail A and B
below.

l\
DETAIL A DETAIL B
(&)
NOTE
There are two types of washers in the 51273 kit (See table below).
It is important to use both types of washers in this assembly.
I NS
Item No Jacques P/N Image Description Qty b’
1 HWMAS851 NUT M3 NYLOCK ZINC PLATED 4
_ _ Weldstud with Weldstud without
2 HWO061 @ WASHER FLAT 1/8 in. x 5/16 in. x 22 g (larger washer) 12 Raised Head. Raised Head.
Washers NOT required. Washers to be fitted.
(Washers, HWO61, Supplied)
3 HWMAO0600 @ WASHER M3 x 7 x 0.5mm FLAT Z/P (smaller washer) 4
4 MW261 gg% SECURITY SPEAKER GRILLE ZINC PLATED GOLD 2 REV DATE CHANGE DESCRIPTION BY (C) Copyright Jacques Technologies Pty Ltdj All rights reserved.
= 0 [2007-09-13 | FIRST RELEASE LFB 9) JACQU ES gﬁfsxn;ag;&%%gv eSEaEQdigll glééélliftlrgl;g
= - 2011-08-02 | 51460 INS SPLIT INTO 2 SHEETS. LFB Future Proof Communications | www.jacques.com.au info@jacques.com.au
5 HW282 Q GASKET SPEAKER 3MM SOFTLON SQUARE 77MM 2 2 |2015-08-14 | 3rd SHEET ADDED SHOWING SPEAKER ASSY. PARTS LIST ADDED TO SHTS 2 & 3. DRAWING FRAME UPDATED. LFB J I B-3 B 1 JACQ U ES I NTE RCO M BOX
6 SPKO089 CLOTH SPEAKER Black L72 mm XW72mm 1 DRAWN: DATE: ADAPTED FROM: FILENAME:
- : LFB 2007-09-13 51161-INS 51460-INS.dwg
. - — it o & v B 3 CHECKED: DATE: SCALE: SHEET: SIZE:
eaker assembly with 1.5 m leads
NS i ’ N.T.S. 3 of 3| A2
APPROVED: DATE: DWG NO: REV:

(©)2015 Jacques Technologies PTY LTD 51460-INS | 2




